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UCNI LIST - Racionalna funkcija — 2
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Resi iracionalno enacbo:
a) Jx-3=2
b) x—3=/x+3

Resi iracionalno enacbo:

a) x+3=8-x-3
b) a/6+m=3

Resi iracionalno enacbo:

a) V2x+3+x+1=/9x-2
b) Vx+5-x—2=+/2x-21
0) Vaxii=2+Jx73

Resi iracionalno enacbo:

a) VAX+1+x+2=7x+11
b) V2x—2-x+2=+x—6
C) X+5++2x+1=+10x—4

Resi iracionalno enacbo:
Q) Jx—2x =2
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¢) Jxi3-7-2—x

d) Vx+4+x-1=+2x+15

C) \x—33x+6=2

d) ¥2x-2-3x-4=32x-9



RESITVE UCNEGA LISTA — Racionalna funkcija — 2
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3) a) Xxe(—o0,—4)u(2,+x)

b) xe(-3-2)U(L3)




C) xe(-21)u(2+w)
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